SHIMANO
,1 0 17_-5 2500HGS EemId—R 5—SD83 E026

AEEfTA& (B251) 75,000 mma—~ 02789

Vea) [

@ '4’(5“‘22764‘

KEAXFEFESIEINTUIERLET,

RAEESBCELEL T BT LEONBRPORRE—BLANVEEDIENETDT.
ZTATEN. (BRICKVERLTORBREEDITRINGEDNTEVET.)

B & R SHEE| B & R e B T PR s
E = B & & @ 8| |® = B & & @ 8| |® = B & & @ B)

2 IR IEXINZR 100 54 7—LEEH#h 200 102 BEERILS 50
8 NF Y TIRTIEX 50 55 N—)L#E 3,000 103 INRILFry T 300
9 R—=I T2 (6X10x3 SARB) 1,200 56 N—IVBUST HLhF— 100 105 BEERILS 50
13 BEEARILS 50 57 FEE 50 106 JHA—LIYTIREHY TR 100
14 AT—=IE> 100 58 BEERILS 300 107 JA—LrTREHT— 200
15 AT —ILE IR 100 59 O—&%—AH—K 1,000 108 B 50
16 AT—ILE>HIN— 100 60 BEEARILE 50 109 R=INXTF>J (2x5%x2.5 SARB) 1,200
17 AT—ILE>H/IN—$8AR 200 61 O—&%—h>— 200 111 BEF 500
18 BEERILS 50 62 O—5—J5vF—ILiRTIEX 100 112 BEARIL S 50
20 AT —IVEE 50 63 O—>—oovF—IL 200 113 RTF1H—K 1,000
21 YR AT 21— (M2X5) 100 64 O—S5—9USYFF7IE—FEE 100 114 RTF1H/IN— 100
22 XA TINRT I THAR 500 65 O—>—J5vF# 1,000 115 BEERILS 50
23 R=INXTF)>J (7x11%X3 SARB) 1,200 66 O—5—J5vFik 100 116 BERILE 50
24 KSOBESSF Vb 200 67 FEE 50 117 TA—LT v THIN— 100
25 AT—IVZH 100 68 BEEARILS 100 118 FEE 50
26 SFIVMX 100 69 NFZV Y TR 200 119 JA—LvTh 1,000
27 BEEARILS 200 70 R—=IXF1)>4 (7x13%X4 RSARB) 1,200 121 BEERILS 50
28 r—7 100 72 R—=IAXF 5 (5x8%2.5 RSARB) | 1.200 122 RTFAH—KHZF— 200
29 O—&—~F7Y>o>—)v 200 73 Z0)0>a )y 300 124 oy 100
30 O—&2—% 45 Hh>—# 1,500 74 RF1TZ20—IL 200 126 JHA—LY I HT— 200
31 XA vTh 1,500 75 AbYIN—H L 300 128 FEES 50
32 O—&%—7+vhb 300 76 ARYIN—N\ZXHAR 100 129 7)92a )G AN=H—=>—b (FZH) 50
33 R—=INXT)>2 5 (4X7%2.5 RSARB)| 1,200 77 TI)YIINE 100 130 FEE 50
34 SA>a0—>—TJva 50 78 2 E D) 100 131 BEghFHAN 200
35 ZA>a0—>— 1,000 79 Ay /N\—L/N— 300 132 JHA—LvIRE> 300
36 SA A== FUThF5— 200 80 BEERILE 100 151 /NP EES 300
37 FEE 50 81 AbYv/IX—L/N—H/\— 200 152 S EE 100
38 SAO—F5—%7 100 82 R—INXF1)>J (3x6%2.5 SARB) 1,200 191 K=o/ 7% 9,000
39 FHEIN\XR 100 85 FEZ (7%10) 50 193 E-A>F7 1,000
40 FHEY 100 86 R—=IAF > (7x13%4 RSARB) 1,200 194 IF3—LvTRET 500
41 T—LINZHAR(A) 100 87 TR2I75>0o—I)b 200 196 J\NRILERY N 2,000
42 T—LINZHAR(A) HZ5— 100 88 pE 5,000 197 JNR) 4,000
43 T —LBLINFR 100 89 7 2B ERIVNES 200 200 INRIVAG )a—FvvT 1,500
44 T —LHLINZKT—N 200 90 BEERILE 50 201 NS4 7FX7% 3,000
45 SAA—S—FHaNRFrvT 100 91 BERILE 50 211 A7—IL#R 13,000
46 F—LhLl 500 92 [eDPZi 100 212 JNRIVER 10,000
47 BEEARIL 200 93 SERRFYY T 500 213 i rand 15,000
48 BEERIL 200 94 70023 )G ANR—H— 200

49 BEERIL 200 95 INRIVERS —IL 200 141 BMREES—b FESR) 200
50 T —LHhLINFD/IN— 1,000 97 INRIVEESR 100

51 ARTUL/IN— 200 99 R—=INTF1>J (4x7%x2.5 SARB) 1,200 *FO1 —IL&s tEH) 1,000
52 aO—&— 8,000 100 INRIV)T 2,000 TRST | BUREREAE [CRIEE)) 200
53 B4 DhLBh/N— 1.500 101 FEE 50 BNKI | 52K HER) 100




